QE~UBEFDE A=RE-A—7 HBEH B=itR-J0v/HEEE

1:3iva K4 BERAUNRBRAUM WERIN R—FR
1 (UAREELD 59.97 50.00 9.97
2 |iRE BE 52.30 50.00 2.30
3 |&EBy Bx 50.00 20.00 30.00
4 |EBEEEERXR 36.00 30.00 6.00
5 &% Dk 31.30 30.00 1.30
6 |KRFEFAIE 30.50 6.50 24.00
7 |BEEER 24.00 24.00
8 |fkEk D& 21.97 12.00 9.97
9 |mEtESM 19.35 17.50 1.85
10 |EZE B4 18.68 9.50 9.18
1 |TBA—FU— 18.37 17.50 0.87
12 | BE 18.00 18.00
13 |NHE EF 16.72 6.75 9.97
14 |FME HE 16.03 15.00 1.03
15 |K)Il EZ 13.30 12.00 1.30
16 |FBX 5 13.00 8.00 5.00
17 |kWd B4 12.82 9.50 3.32
18 |Fk[ET L A 12.68 1.45 11.23
19 /DB ALK 11.88 8.00 3.88
20 |{&EBE [HTE 11.35 9.50 1.85
21 | AR #ME 10.29 9.50 0.79
22 |thih B2 10.00 5.00 5.00
23 |&E%E T 9.97 9.97
24 |EEEn 9.32 6.00 3.32
25 |hn@E Eik 9.18 9.18
25 IR % 9.18 9.18
25 |Iik EIE 9.18 9.18
28 |EF D& 8.60 6.00 2.60
29 &K XRE 8.30 7.00 1.30
0 |RH ;X 7.78 6.75 1.03
31 |FH EE 6.80 5.50 1.30
32 (&[0 FF 6.65 5.00 1.65
3B | EBIIF=ZE 6.35 450 1.85
4 | FEXR 6.03 5.00 1.03
35 [HBA EB 5.96 3.56 2.40
36 |EH =& 5.78 5.00 0.78
37 |EA HE 517 1.85 3.32
38 MM BRI 4.88 410 0.78
39 |EARSKEATE 4.60 2.20 2.40
40 |#E BE 4.59 3.56 1.03
41 |RKEZLY 4.25 1.85 2.40
41 |5R BT 425 3.60 0.65
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43 (B RBD 416 3.56 0.60
44  AJRIGHE B 3.88 3.88
44 & XZE 3.88 3.88
44 |ERE =i 3.88 3.88
44 |FEMHCAO 3.88 3.88
44  |FFK FIiEB 3.88 3.88
49 |tkRpE BEE 3.78 3.00 0.78
50 |=iE HZ 3.75 1.70 2.05
51 %KX Fn 3.32 3.32
52 |EAE M 3.31 2.60 0.71
53 /MR FIE 3.30 2.60 0.70
54 |BiE DE 3.25 1.60 1.65
55 KR I 2.99 2.20 0.79
56 |Fi1E 8 2.95 2.30 0.65
57 |JIE&REITE 2.85 1.20 1.65
58 |RBMMAE 2.78 2.10 0.68
59 |FH EA 2.64 2.00 0.64
60 |FiF HL> 2.30 2.30
61 | =% 2.15 1.45 0.70
62 |[#AK EmBE 2.03 1.00 1.03
63 |EJt Al 1.90 1.30 0.60
64 |&KJII EME 1.85 1.85
64 ik E 1.85 1.85
64 |FEE E&H 1.85 1.85
67 |BHH X3 1.79 1.00 0.79
68 |[EEAYYF 1.70 1.10 0.60
69 |AR¥ EM 1.67 1.67
70 |HRT &#F 1.65 1.65
70 |BHE BE 1.65 1.65
70 |FEHTERE 1.65 1.65
73 | & 1.60 1.00 0.60
74 X BE 1.35 1.00 0.35
75 |BERX EE 1.30 1.30
76 |RI)Il Ehk 1.03 1.03
76 |fEA HFE 1.03 1.03
78 |FEE &R 0.97 0.97
78 |#8K HEAR 0.97 0.97
78 |wiE % 0.97 0.97
81 |F¥AOVTA5 0.91 0.91
82 |BiE ¥% 0.87 0.87
83 | KM M= 0.79 0.79
83 | BT 0.79 0.79

N N N N N e e e e e e e e e e e e e e e e e e e N e e N e N N N T N

O O O O O O 0O O OO — = O O O O — —= 0 0 O = = =4 0O = = = =4 A& = =4 =2 0O —= = O O O O O —= >»

e e e e e T S O . B e T e e e T T T e S S v Y|

R N N N N N N e N N N N N N O N D N N N N N N e N N N O N N N . e e N W e



QR ~ARKZFODE A=RE-A—T HBERH B=#RX-JOv/HiHREK
1:3iva K4 BERAUNRBRAUM WERIN R—FR
83 |Efk BT 0.79 0.79
86 [/NOMER 0.78 0.78
86 |/\ith E#E 0.78 0.78
88 |ZAH&ZRTY 0.71 0.71
89 |HhFtFENES 0.70 0.70
90 |RIR BiE 0.68 0.68
90 |HEAR Bl 0.68 0.68
92 |BA HIK 0.67 0.67
92 |fiK K 0.67 0.67
94 |BRELGWY 0.64 0.64
94 |BEEHK 0.64 0.64
94  |{E <2 KRFFIA 0.64 0.64
97 |BH EAX 0.62 0.62
97 |BEAR E 0.62 0.62
97 |FEHERR 0.62 0.62
100 |KHEEHF 0.60 0.60
101 | FR 0.59 0.59
101 |HHENMARTE 0.59 0.59
103 |Ma4E HE 0.57 0.57
103 [l R % 0.57 0.57
105 |#TBEES 0.56 0.56
106 | XKiE #Fil 0.55 0.55
106 |/ME WBE 0.55 0.55
106 | KAt /i 0.55 0.55
106 |HHE &ig 0.55 0.55
110 |HHE &KX 0.54 0.54
110 |HE &5 0.54 0.54
112 &k BE 0.53 0.53
13 | ¥ 0.52 0.52
114 | KTBEEF 0.51 0.51
114 |/h BE 0.51 0.51
114 |hAaEBEER 0.51 0.51
114 |BH & 0.51 0.51
114 |#8K K& 0.51 0.51
114 |$3 1% 0.51 0.51
120 |ShIb FEx 0.50 0.50
121 |[/MRODD 0.49 0.49
122 |[BRREXR 0.48 0.48
122 |BTF 8% 0.48 0.48
124 |{E@A =E 0.47 0.47
125 |B% #ie 0.46 0.46
125 |FFH & 0.46 0.46
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125 |75 HETHE 0.46 0.46
128 |JI[F& MHAT 0.45 0.45
129 |/MIFTHEE 0.44 0.44
129 |Faf R 0.44 0.44
129 |l EAR 0.44 0.44
129 (BIL #RTE 0.44 0.44
133 |FIE 55 0.43 0.43
134 |2 BgEgE 0.42 0.42
135 |H)Il =iE 0.41 0.41
136 |falEd EAX 0.40 0.40
136 |LLU# ZF4&E 0.40 0.40
136 |MAK &EA4 0.40 0.40
136 |HEZES(H 0.40 0.40
136 |/BE (TE 0.40 0.40
141 [ERRKE 0.35 0.35
141 |IUARFEK 0.35 0.35
141 |HH &R 0.35 0.35
141 |hfEd ATy 0.35 0.35
145 |E£F XF 0.31 0.31
145 |#iKYYH 0.31 0.31
147 |BE i 0.29 0.29
147 |5 EX 0.29 0.29
149 |fkfE HE 0.26 0.26
149 (Y IHRT 0.26 0.26
149 |JIIBDLEE 0.26 0.26
149 |IlUE PEF 0.26 0.26
153 |Ff #E 0.23 0.23
153 | =i 0.23 0.23
155 |BBR &E 0.22 0.22
156 |21l =3 0.20 0.20
156 |IUFERE 0.20 0.20
158 |#& Eif& 0.19 0.19
159 |sEfE B 0.18 0.18
160 |=iH 2EZ 0.16 0.16
160 |f2H #kE 0.16 0.16
162 |5 BIE 0.15 0.15
163 |AM =8 0.13 0.13
163 |FFO Z4E 0.13 0.13
165 | ER 0.12 0.12
166 |REYR FNZE 0.11 0.11
167 [/ME BHE 0.10 0.10
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